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1. Which type of ores are purified by Froth flotation process?

(A) Oxide ore
•

(B) Carbonate ore ,.

.~
Sulphide ore

(D) , Sulphate ore

(A) ~8;Q)"'Gl ~IT~

(B) "'ITn-U<:6llTL~IT~
'.

(C) "'Q>Q)uGl ~IT~

(D) 6Q><:UL~IT~ •

2. The best fertilizer is

(A) (NH')2 SO, (Ammonium sulphate)

,;;tr Urea

(C) CAN

(D) Ca (N0S)2CaO (Basic calcium nitrate)

(A) . (NH.)2 SO. (~tb<:LDIT6IlIlUJtb"'Q><:UL)

(B) \!,j,i\1UJ IT

(C) CAN

(D) Ca (NOsh CaD (Basic ca:lcium nitrate)
•

•
•

3. pH of pure water is
,

tJNf 7 (B) 14
•

(C) 0 (D) 6
~tiJQ)LDUJIT6llT,ffii\16inpH LD~ULj ,

(A) 7 (B) i4

(C) 0 (D) 6
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4. In which one of the following organism is RNA absent?

(A) TMV (B) Bacteria

(C) Algae ~ DNA viruses
•

.$~ .••.,;.,L "-)1::0 "- uSl rTl6lff~i51Gil RNA .••rr_ U uG\GlJ::b1Gil6lffQJ? ..
(A) "l-.,-Lb6lS1 (TMV) (B) urrIi; ",-rTllLJrr

(C) urriFI ••• .". (D) DNA 6lffGlJI)"QUw

5.. Kranz anatomy is found in which plants?

(A)

~

C,
C,

(B)

(D)
C, and C,

CAM

(A) C,

(C) C, (D) CAM

6. Smoking injures

(A) Stomach (B) Intestine

~ Lungs (D) Liver

Li6lff'" tS1"l-~::oGil "-)1::0 "-ID! U6lffU U rr::b11i;@iLb?

. (A) GlJuSlID! (B) @iLGil

(C) W 6lffI)"iD'I)"Gil (D) .••Gil.,)' I)"Gil

•

7. Mendel's monohybrid ratio is .!

(A) 9: 3 : 3: 1 (B) 2: 3 : 3: 1 "

~ .1: 2 : 1 (D) 1: 2: 3: 1

QlD~Q\l6M SllD6lffJ])u U";"Li "'QJut5i6lff 6lS18il::oLb

(A) 9:3:3:1 (B) 2: 3 : 3 : 1

(C) 1: 2: 1 (D) 1: 2: 3: 1
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-8. Who has given the most accurate account about Mohammad Ghazni's raid of Somanatha
temple in 1026A.D.? ~

(A) Abul Fazl

,(C) Barani,
(B) Ferishta

,p!f' Alberuni

(Yl$l1li!jl $~d1uS1~ 1026 A.D.-Gil )JjL)!>iV G:IHTl1l)DrTiVITG:$rTuSlGil UGO)LQlLI@~GO)UU utiJp5!lLI i!jIGil61S1lL1l1lrT61lT

Q <FlU~ $GO)61T<!>IGIfr~~ (I)iU U 6lJ IT1LIrTIT?

(A) <!>ILjGil U<FGil

(C) u~.ml

(B) QUITJ~LrF

(D) -. <!>IGilQu(I)i.ml

9. Which mosque was called as 'Adai-din-ka-Jhonpada'?

(D) Jamaat Khana Mosque in Old Delhi

or)!>iV 11l@ij~ "<!>I.-oJiV-~ ~ - $rT - G:1J:lrTGilTULrT" or~IDJ <!>I.-oJ~ffi$u u@ffilJDi!jI?

••

(A)

(B)

~

(A)

(B)
(C)
(D)

Qutub Minar

Quwal-ul-Islam Mosque of Delhi

Mosque in Ajmer

@ji!jluuSl61lTrTir

Q LGil61S1uSlGil "-6IT 61T@j6lJ rT~ ,,-Gil ~ Gill6UrTLb 11l@ij~

<!>I1£ tE rTIGil"-6IT61T 11l@ij~

U .-oJll'1LI"l-Gil61S1uSlGil "- 6IT61T1J:l11lrT~$ rT61lTrT11l@ij~

•

10. After the break-up of the Bahmani kingdom five separate states of the Muslims came into
existence. Whichstate was most important of the five.?

~ . Adilshahi kingdom of Bijapur

(B) Qutubshahi kingdom of Golconda

(C) Badshahi kingdom of Bidar

(D) Imadshahi kingdom of Berar ' ..
. urTuSldl <!>I~& "-GO)L)!>iV tS1~61lTir !!idl~!!idllLlrT61lT ffi)!>i!jI (YlGillroLb )JjrT@$6IT G:iVrT~p5!61lT. <!>I)!>iV 1B)!>i!jI)JjrT@$m1Gil

uSl$6lj Lb (YlffiffillLll1l rT61lT)JjrT@ or i!jI?

(A) DIJ5U\d.rTI~ <!>I"l-GilQ<j>rT~ <!>I~&

(B) G:$rTGilQ$rT';"-LrT6lSl~ @ji!jluQ<j>n-~ ~~&.

(C) DLrTrTI~ UrTi!jIQ<j>rT~- <!>I~$

(D) D~rTrTI~ ~l1lrT~Q<j>rT~ <!>I~&
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11. The main aim of Sarva Shiksha Abhiyan (SSA)is

.~

(B)

(C)

(D)

Universalization of elementary education

Increase teacher - Student ratio. ..,
•

Increasing number of schools

Provide nutritious. meal to students

•• 12.

(B) ~lfIrTlturT - LDITOO"rurT6l5I.$liDlo ~~ffirT1UUi!jI

(C) UroGTflffi""-LrliJffi6IT~~ffirT1UUi!jI

(D) LDITOO"ru rTffi~8;@i lfi1iiDIT"" "-00" 6ljru !J?rliJ@irui!jl

For the calculation of National Income in India,'Eleetricity, Gas and Water supply' IS

included under which sector

•

(A) Agric~lture

(C) Service

,,~ Industry

(D) None of these

@)ii~UJIT6l5I6il, GiDlfIUJ ru@ruITGO)UJ8; ffiOO"8;.$lL, 'uSlarlflTglo, .,-rT1ruITLLjLD!D!PIlo@i"tfilrTQJ!J?rliJffi6il' "-i1ii!jlGO)!Du51ar

.$W GifrT8;diuuL(E\romi!jl?

(A). GrumlTooi!jlGO)!D

(C) G8'GO)rui1ii!jlGO)!D'

(B) . QiDlTk916ili!jlGO)!D

(D) @GO)ru GJi!jIuSl6ilGO)Q)

13, In which state of India is the llteracy gap between the male and female population low.. .. .
(Densus 2011) .

(A) Tamilnadu

(C) Uttarakhand

$J Kerala

(D) ~ihar

@ )ii~ UJ1T6l5I6il ~oo - Q U 00 U "ru U rDl6lj Gru !D!PIGO)LD 6l5I.$liD lo "-)iiiD LDIT~ Q)i1i~ 6il @iGO)!DruITdi ,,-rom i!jI?

(Census 2011)

(A) iDuSlW)liIT(E\

(C) "-i1iiDlTg8;diITOOL

AECGS/15 6

(B) GdigmlT

(D) t5~lTrT



14. The term fragmentation refers to

(A) Scattered land holding

.Jl'f Further division of land into small units'

(C) Land which is not used for cultivation

(D) La,ndwhich is used for cultivation

~6\lLb i91OO-LIT,slEuuG'i!'Q) GT6NUi9I

(A) ~6\lLb U~QJ6\lIT,slEuuG'QJi9I

(B) .~6\lLb G:LD@JLb81IDJU@jiblIEGrrITIELSh\1uui9I

(C) 6lSl""Grriflf@J,s@j UlU6NULITi!' ~6\lLb

(D) 6lSl""Grriflf@J,s@j UlU6NUG'Lb ~6\lLb

15. Who stated in his book The Indian war of Independence, descrili~d the revolt of 1857 as
"a planned war of national independence"?

(A) Dr. S.N. Sen

,jIi!f YD. Savarkar

(B) R.C.Majumdar

(D) Benjamin Disraeli

i!'IT6N GTC':PibllU"/Jii!')i;ibl'liiiibllDIEIT6OT~)i;ibllUU G:umr" GT6NiJ)Ljiiii!'lEiiiiblQ) 1857Lb <!!)j,oo-G' 81uUITuJ IEQJIEU:>.

"~(flj iblLLlJ51LL G:i!'81lU /Jii!')i;ibl~u G:UITir" GT6NIDJ@jp5luL51LG'illGrrQJir lUITir?

(A) Dr. S.N. QIf6N

(C) YD. IfQJITirlEir

(B) R.C. LDt@Lbi!'ITir _

(D) QU6N1JlL6l~ "l-GiuG:~roI

, .

16. Which among the followingis correctly matched?

(A) Rajaram Mohan Roy- First man to use the term Swaraj

(B) Dayanand Saraswathi - Inaugurated modern age in India

Dadabhai Naoroji - Founded first political association in India

(D) Surendranath Banerjee - Edited the quarterly journal of Poona Sarvajana Sabha

.$~,sIEOO-LQJ lDIDJill GTi9I IfrfllUITIEQUIT (fljiiiibllLjill Grri9I?

(A) ~IT1JlIT~ITLbG:LDITIE6N~ITuJ - '/JilU~IT~lULb' GT6N!DQJITiriii""i!'''''lU "'--uG:WITffiliiii!' CY'i!'Q) LD6lrfIi!'ir

(B) i!'lU IT6OT)i;i!'If~GiuQJibl- )!i656OTlLjlEiii""i!' @)i;~ W IT6lSl6i><!!)j,~LbL51iiii!'QJir

(C) i!'ITi!'ITUITuJQ)!iGrrG:~IT~ - ~)i;~lUIT6lSlQ) CY'i!'Q)~WfllUQ) IfrliJlEiiiG!)i!'Qi!'ITLrliJffillUQJir

(D) /JiG:~)i;ibl~)!iITiii U IT6OTir~- \do60TIT6lSl6NIEIT6\lITOO-G' U iii~ rfI,sG!)IEWIT60TIfirQJ1Jl6OTIfU IT6lSl6NU~ U U IT••h\1w ir
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17. Which one of the following amendments to the Constitution of India sought to curb the

political defection?

(A)

(C)
.pIf 52nd

(D) 70th

(A)

(C)

18. Gold is 19 times as heavy as water .and copper is 9 times as heavy as water. In what ratio

should these be mixed to get an alloy 15 times as heavy as water?

(A)

(C)
1: 1

1:2

(B) 2: 3

.,pr) 3: 2 •

1brf.JI£LD, 1b""""""'''''lJu GUIT~~ 19 LDLrf.J@5I£6lITLDIT6lIT~J.'Gl"LDLj 1b""""""'''''lJu GUIT~QJJ 9 LDLrf.J@5 I£6lITLDIT6lITi9I.

@QJJD""!D G1'GlJ615I$llbii>i!5I"'"1£611)iJlbIT6U1b""""""'''''lJu GUIT~QJJ 15 lDLrf.J@5 1£6lITC'PGiTm "-.G611ITI£8; I£611GOlQJ8;

$IGOlL8;@5LD?

(A)

(C)
(B) 2: 3

(D) 3: 2

.
19.' How many bags of grain 'can be stored in a cuboid granary 12 m x.6 m x5 m, if each. bag

occupies a space of 0,96 cu. metre?

(A)

(C)
275

480,

~ 375

(D) 495

i2 L1lx 6 L1lx 5 L1l~m615l611IT61ITI£61ITGl"GlJQJffiIbIT~ItU8;$ILrf.J$l6U, ~(I'j (lPLGOlL8;@5 0.96 1£6lIT.L1l.~m6lj @LLD

GIb"" QJU U (11LDG1'61lIl6iJ,G1'ii>1b""6lIT'IbIT61lIl1U(lP L"" L8>GOlm G",Dl 8;8>60ITLD?

(A) 275 (B) 375

(C) 480 (D). 495

AECGS/15 8 0



20. A rectangular plot measuring 90 metres by 50 metres is to be enclosed by wire fencing. If
the poles of the fence are kept 5 metres apart, how many poles will be needed?

(A) 55

(C) 57

.p1. 56

(D) 59

•

90UlLLQ!)8;@) 50UlLU'r 2'IIffi6l.jQlJLUJ ~Q!) Q".iJ6lJffi Lj6\)~~PJ@) ffiLD~ G6lJ61S12'IIQlJLD8;ffiUU(ij\$l!J)i1jI. 5 UlLUT

.@QlJLQ6lJffilu5l6iJ ffiLDLjffi6IT2'IIQlJLD8;ffiUU Lur6iJ, GT~!!,QlJ615TffiLDLjffi6ITG:~QlJ6lJ U U (ij\LD?

(A) - 55

(C) 57

(B) 56

(D) 59

21. Ramesh is thrice as good a workman as Bipan and is therefore able to finish a piece of work
in 40 days less than Bipan. Find the time in which.they can do it working together .

(A)

(C)
10 days

16 days

.tII'!f 15 days

(D) is days

~U~QlJ615T 6ElL Q"G:LD~ (lp6N,Q)I LDLrliJ@) G:6lJQlJ6\) .Q"tUU6lJ6N LDPJ,Q)ILD~U~QlJ615T 6ElL 40p;rrL8i6IT

(lp6NIffi.L"l-GUJ ~Q!) G:6lJQlJ6\)QlJUJ (lp"l-!bi1jl 6El(ij\$l!J)rr6N GT6>fl6iJ .@Q".m(ij\ GUQ!)~ G"rrp;i1jI Q,;otU!!'rr6iJ

2'11ciJG:6lJQlJ6\)QlJUJ GT!b!!,QlJ615Tp; rrLffiffil6iJ (lp "l-u U Ii'?

(A)

(e)

10 p;rrLffi6IT

16 p;rrLffi6IT

(B) 15p;rrLffi6IT

(D) IS p;rrLffi6IT

22.
..[3+1 . ..[3-1 .. a2+ab+b2

If a=~ and b=~ then the value of 2 2 is
",3-1 ",3+1 a-ab+b

(A)
11
12
15
13

(B)

(D)

13
15

12
11

..[3+1 b ..[3-1 .--'" a2+ab+b2 • .fl' .a=-- =-- GTbOIl611 -615f LD:<"ULj

..[3-1' ..[3+1. a2-ab+b2 •

(A)
11

(B) 13- -
12 15

(C) 15 (D) 12
- -
13 11
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23. If X is the sister of the son ofY's son then how X is related to Y?

(A) Grandson0~ ,
Grand daughter

(C) Sister

(D) Brother

(A) Gu~6irr

(B) Gu~i5I

(C) IfGffirTibrfl

(D) IfGffirTib~6irr

24. The least perfect square number divisible by 3, 4, 5, 6 and 8 is

(A) 900

(C) 2500

(B) 1200

~ ,3600

(A) 900

(C) 2500

(B) 1200

(D), 3600

25. 1 1 1 1 1+ '+ + + -
~+~ ~+~ ~+~ ~+~ ~+~

t4) 1 (B) 2 •
(C) -1 (D) 3

1 1 111---+ ' +--~.+---,+ -
~+~~+~ ~+~~+~ ~+~
(A) 1

(C) -1

AECGSI15 10

(B) 2

(D) 3



(B) Application

(D) . Liveware

~@jw.

(B) uLi.J.;,urrQ;i

(D) .6<lGlJ<iJG@JrT

(A) .ooUrTwG@JrT

(C) (ljl6<l!J)6<lw.

26. Software Embedded into Hardware is

.Jiff .Firmware.
(C) System

27. Howmany members were placed in the Indian Constituent Assembly?

(A) .279

~ 299

(B) 289

(D) 319

(A) 279

(C) 299

(B) 289

(D) 319

28. Which language was not added. m the. Eighth Schedule of the constitution by the

92nd Amendment Act?

(A) Bodo

(C) Maithili

(B) Dogri

~ MaQ.ipuri

(A) Gu rrGLrr

(C) . 6<lWiblroJ

(B) QLrrffiITl

CD) wOOluLjITl

29. Which Amendment Act is said to be the states Reorganisation Act?

(A) 5th Amendment Act

(C) 9th Amendment Act

,JPJf 7th Amendm.entAct

CD) 10th Amendment Act

(A) 5-@Ji9I ibI(11j~i!''''"L.L.W

-(C) 9-@Ji9I ibI(11j~i!''''"L.LW

(B) 7-@Ji9I ibI(11j~i!'hL.LW

(D) l~@Ji9I ibIC'?~i!'''' "L.LW

11 AECGSI15
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30. How many Land Reforms Acts were included in the Ninth schedule by the 78th Amendment

Act?~,27
(B) 29 •

(C) 32

(D) 35

(A) 27

(B) 29

(C) 32

(D) 35

31. The Salary of the Supreme Court Judges are provided from•.
(A) . Public Account of India

(B) Contingency Fund of India.

V1f5 Consolidated Fund of India

(D) Special Fund

"-",8'p;~LDWjDP;~U~ffi\58;@i .&Iafl8;ffiUU~Lb _~lLJLb £~ffi6OirrL\ilWJPlQ\lC'9!f,i91.&Iafl8;ffiUU~ffi1jDi9I?
c

AECGS/15 12 o



~2: ., .Which is' not included in the Concurrent List?

.(A).. Criminal Law.

(B) Marriage and divorce

jtr Banking

(D) .ContractS

Q LJ rri9ILJ'UL,,!-WQ\lQl "-.uGlTLli,, .srr~i9I 'Gri9I?

(A) @j!DlD~tUQl8'LLlb'

.~

•

..(B)
(C)

. ,

..

'.

. ,
33. A graph cifacumulative frequency distribution is called

• 0

~ Ogive.

(C) . .Frequency c~rve .

'(A) SlQl.sGiJ

(C) . JBl.s~QGU.m GUQl6r1C.srr(9 .

34. I . 'Fourth World Country refers to

(A) Capitalistic Country

(B) . Socialistic Country .

, .(C) .Non'!!-ligned Country.

~'Least developed Country.

pirrQr.srrLOuu.s pirr(9 GrQruiiJ GrQl~~ '@J!D18;.$IlDi9I?

(A)' <!:p~Q)rr61fl~i9IGUpirr(9.

(B)' . aaorr8'Q\l8' ,!iirr(9

. (C), . &L(9 ~8'lJrr pirr(9 .

(D) u51l1;~LOls1Qr ~ffiJ.$IlJjpi rr(9. .

o

(B) .' Frequency.polyogon

(D) Pie diagram

(B) JBl.s~QGU~ uQ)~.$rr<lltrLO

(D) .GULL 6l5IQr8;$UULLO

,

'0

..

•• . .

AECGS/15
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35. The standard deviation of 50, 47, 53, 48,51, 52, 49 is.

(A) 4

cJ£) 2

(C) 14/3

(D) ..J1413

50, 47, 53, 48, 51, 52, 49 ""<h£1UJG!l6lJ8iGlflm ~LL 6l51Q)Ii;8iUlrT6OTi9I.

(A) 4

(B) 2

(C) 14/3

(D) ..J14/ 3

.36. The t:oefficient of skewness based on qua~tiles is ~. If the difference of the quartiles is9 .

72 and median is 30,then the value of the upper quartile is

(A) 90

~) 86

(C) 14

(D) 46.8

(A) 90

(B) 86

(C) 14.

(D) 46.8

•

AECGS/15 14



37. In India aluminum is abundantly found in
•(A) Uttar Pradesh

(B) Madhya Pradesh

(C) West Bengal

~) Kerala

@)i;!5lwlT661ro .,l9I@lJu5l~w ~!5lIliLDITIli IliIT<;WTUU(1'WLDIT,ffilroW

(A) fL~!5l'J LSl~~6W .

(B) LD~PJuj LSl~~6W

(C) CLD!D@)QJrr"lliirOlTW

(D) CIli 'J0lT1T

38. Air pressure is measured with the help of .

(A) Thermometer

~ Mercurial oaroineter

(A) QQJUULDlTdI

(C) UIT~'J6 1li1T!D!D@~LDlTdI

(B) Nanometer

(D) ~Windmeter

(B) . p;rrCQlITWLLIT

(D) 1li1T!Dl))Iw LLIT

"•,

39. Identify the fresh water 1ak~among the following

(A) Lake Lahonton •

(B) Honey Lake

~ Dal Lake

(D) Bonneville Lake

LSl~QJ@QJQlQJ!D!D1rop;~6lIiir GJrrlQ)w IliElWL!D11li

(A) roCj!1!DIT~LIT GJrrI

93) C~6Or GJrrI

(C) ~lTro GJrrl

(D) ulT6Ordl661roCro GJrrl

0 15 AECGS/lS-
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40. The one, which is not a social network among the followingis

(A) Twitter

(<?) Face book

~) SMAP

(D) Whatsapp

(A) "l-GlIlLUT

(C) oOoCUduLj8;

(B) duCLDU (SMAP)

(D) 6tJITLduq\,u

41. Which State has won the National Tiger Conservation Authority biennial award of 2015?

(A) Assam

~
. Kerala

(C) Tamil Nadu'

(D) Uttar Pradesh

(A) ~IHfLb

(B) C8il)ffirr

(C) ibu51~)1irr(!) .

(D) "--~~I)U L£jJI)CibIfLb

42. For thewelfare ofwhom, the Central government recently Announced two schemes, venture
capital fund and green business?,

~ Scheduled Caste

(B) . Scheduled Tribes

(C) Small Producers •
(D) Small Businessmen

LD~~ UJ ~ I)Iii UJrrC'96IDLUJ )1i6\lWi 8;8i rr8i ~ 00- 6IDLDu51GiJ " QQJ birrIf fr 8i rrl5lLGiJ )BI~" LD!D.[!)I Lb "u lii6IDLD QJ.mJ 8i Lb"

6fkw ~C'9 ~LLniJ8i6IDffi ~JJ51Gl1l~~GiTffi~?

(A) ibri-~~ibuuLCLrrfr

.(B) LD6ID6\lQJrr~ LD8;8iGiT

(C) . M.[!)I "--!Du~~UJrrffifr8iGiT

(D) M.[!)I QJ.mJ8ifr8iGiT

AECGS/15 16



43. Name the district which. be~ame the first to have complete Rural B~oadband Coverage in
India .

. (A) Kochi, Kerala '.

(B) Kanchipuram, Tamil Nadu

(C) Vadodra, Gujarat

. ~ Idukki, Kerala

.@)t:@UJIT6lSl&>.<':PQ9 dilIJITl1lu'-lW <!9l"OOL <9I"'611B;"W"'W "l8':@"'UJU QUWj!) .<':PP;Qll1lIT6ULLlll6riijl?

(A) Q"IT.;o6l, G"IJ6ITIT

(B) . "IT~61'-lIJt.D, p;u\1\9,!DITG'

(C) 6UGP;IT~IJIT,@)I:JlIJIT~

(D) .@G'B;dil, G"IJ6ITIT

44. On which date the International Men's day is celebrated?

(A). Oct. 12 (B) Nov..14

~ Nov. 19. (D) Dec. 19

8'ir6Uap;8' ""II>oo".rr :@6Mt.D6r)!;~ ,!DIT.rr<!9lWJ8'JTl~d;UUG'.$IW~? .

(A) <!9lB;GLITUir 12

(C) ,!D6Ut.DUir19

(B) ,!D6Ut.DUir14

(D) "l-8't.Duir 19
.~

45. .Which is the first state conducted e-cabinet?

~ Andhra Pradesh

(B) Maharashtra

(C) Kerala

(D) Karnataka

,!DrrL"l-Qr <':PP;611IT6UiijI.@- "ITt5IQ6ML 8il.LLt.D '")!;P; l1lIT~Q>~:@Ql ,!D"'LQUWW~?

(A) ~:@IJ t5I~P;8't.D

(B) l1l"ITIJIT~"l-IJt.D

(C) G"lJorTIT

(D) "irIJiITL"t.D

o . 17. AECGS/15
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46.. Whose autobiography is: "Playing it MyWay"?

(A) M.S. Dhoni

(B) Vishwanathan Anand

(C) Saina Nehwal

CRY' Sachin TendulkarV/

,
47. The 99th annual session of the Indian Science Congress was held at .

# Bhubaneshwar

(B) Bengaluru

(C) Hyderahad
,":-

(D) Chennai

AECGS/15 18 o



48, Who won th~ mixed doubles Australian Open Tennis 2015?

•

r
.'

'tuITIT?

(A) .QSituITEWrLIT QUtuGill LDITIT"l-QlIT fil!fi1 •.•• 8ilGill

(B) LDITIT"l-Ql~ fil!fi1 •.••8ilGill aL~tuQ> Q)!iGillLIT

(C) LDITIT~6oTIT fil!fi1 •.•• 8ilGill LDaa;~ IJ,upjl •

(D) LDITIT"l-QlIT)!iQj~~aGllITQjIT - Illaa;~ IJ,upjl

49, The Indian State which got connected by rail in November 2014 is

v~ Meghalaya

(B) Assam

(C) Arunachal Pradesh

(D) Sikkim I

(A) . aLDa;ITGlltu IT

(B) c!9l61Tt.b .0

••
(C) c!9lQljEllMIT6ooJ t5l~i!i6t.b

(D) 6l1i;8ilt.b

0 19 AECGSI15
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•
50. The force F acting on a body of mass m is =

(A) mass / acceleration

(B) (mass)2 x acceleration

~ mass x acceleration'

. (D) acceleration / mass

m i5I"" JDLLjciTGfi1J (i9QUfT(i9ffilGrrilliJ}IQIfu.J6iJU(11LDG6IQ)1fF -GrrLDi5lULj

(A) i51""JDI CY'(118;B;U)

(B) (i51""JD)2x CY'(118;B;LD ,
(C) i51""JDx CY'(118;B;LD

(D) CY'(118;B;LDI i51""JD

51. The compound use<1in photographic film is'

(A) AgF - silver fluoride (B) AgCl- silver chloride

~ AgBr - silver bromide (D) AgI - silver iodide

AgF - Q6UciTffiI:ou@9",,~(11. .

AgBr-, Q6UciTffiILjC:~fT""LD(11

LjQ)B;UUL80lli(i9ffi16iJUu.JGrrU(11LDGlfrTLDLD-------~@)LD

(BY AgCl - Q6Uwffil @)G6fTfT",,~(11

(D) AgI - Q6Uwffil291Gu.JfT""L(11

(A)

(C)

52. Which of the following does not belong to the solar family?

(A) Asteroids

(C) Planets

(B) Comets

~ Nebulae

(A)

(C)

(B) 6UfT6iJillGrrB;W

(D) Q)!iLj6\lfT

53, Which one of the following is not a particle in the nucleus?

(A) Neutron (B) Meson

(C) Proton . ~ Photon

t51Grr6U(i96U61lT6Util IDJW '" iJ}I291@)I 8;B;(i9G616iJ!>...w6fTiJ}IB;W2916iJ6\l?

(A) - i51\Jd,L~fTGrr

(C) . LjC:~fTL~fTGrr

(B) illlffTGrr

(D) C:UfTLLfTGrr
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54. Which one of the following causes chagas disease?

(A). Bed bug (B) Mosquitoes

~
Triatominae bugs (D) Cockroaches

~~$6lirrL6lJd>lJ)IGiT"'g;! 6rr8;$Qu ap;rr~UJ iL6lirrLrr8;@j8iljDg;!? • .-.
(A) e!PL~LU \,j,661 (B) Q$rr$8;$GTr,
(C) "t~IJUJrraLrruSla6l5T \,j,661' (D) $lJuurr<;lrr \,j,661$GiT

55. Match List I with List II and select the correct answer using the codes given below the listS :

List I List II

(a) Terpenes 1. Yam

(b) Phytosterols 2. Tomato
(c) . Phenols 3. Garlic •
(d) Theol 4.. Brinjal~

(a) (b) (c) (d)

(A) 4 1 3 2

(B) 1 2 . 3 4

~ 2 1 4 3

(D) 3 2 1 4
•

6lJITl~6 I OLL<;lrr6lJITl~6 II~6l5TU QU~Q!j:$~ 6lJITl~6$~8;@j £~ Q$rr(i)\8;$UuL(i)\GiTm Q~rr@jutSlQ\lQ!j)Bg;!

6ITlUJrr6l5TGiSI~Lu5l~6l5T:$ Q~ITlGll Q6uJ$ :

6lJ~6.J 6lJITl~6II

(a) . QLinS<;lrrQu 1. lUTTtD• •
(b) ~uLGLrrQu"'-lJrrQ> 2. ~8;$rrGlfl

(c) tSl6l5Trru5lQ> 3. \,j,6lirr(i)\

(d) ~aUJrrQ> 4. $:$~ ITl8;$rruJ

(a) (b) (c) (d)

(A) 4 1 3 2

(B) 1 2 3 4

(C) 2 1 4 3

(D) 3 2 1 4

21 AECGSI15
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56~ Biochemical oxygen demand measures
(A) Industrial pollution
,(B). Air pollution
(C) ,Polluting capacity of effluents

~ Dissolved O2 needed by microbes to decompose organic waste

£~';'ffiooL6lJ JD!!5IGil,,,-u51rTG6lJ~ tLJGil~.;,Gn5l1BG>TU JDDJrT';'@)""DJ"" tLJ~ G1T6lS1Gi6lJ~ ." ~?

(A) Gl"rT~JDlfrT""Gll LDrTffiurTGi

(B) ffirTJD!))!LDrTffiUrTGi

(C) ffi~6ljU GUrT(i9LffiffilG>TLDrTffiUrTGi

(D ) ~ ITIGilffi"" (f,!i;~.IT6fT ~.;,QD11B "".-.r "- UG tLJrT.$1~~ IDJ 00 ~ u51rTffi.IT ,,-u51rT ,,;~ 6ljffi"" 6fT 81""1"6lJ ~ LtLJ
GlftUl"Gil

57. Synthesis of prothrombin occurs in
(A) Bloodplatelets (B) Bloodplasma

~ Liver .,' (D) 'Bone marrow

£~';'ffiooL6lJ JD!!5IGilLjG(frT~1"(frTu:)[51G>TU lq-G tLJGi~I"Gil "'6>.JJD!!5I6iJffirT6lfOTUUGi.$lDJ~?

(A) @(f~1" I"LGi';'ffi.IT (B) @(f~1" L5i6fTrT.iULDrT'

(C) ffiGilro(fGil (D) <iTWtDLj LD/E""1B

Gujarat
Madhya Pradesh
Uttar Pradesh
Rajasthan

(b)

(d)

(B)

~

Choose the incorrect pair regarding the places an,d the states where Mesolithic remains
have been found '
(a) Langhnaj
(b) Adanigarh
(<;) Mahadaha

! (d) Sarai Nahar Rai
(A) (a)

(C) (c)

,58.

(b)

(d)

£~';'$ooL ~"".-.r~~ ,@""6lfOT$~tD ,,-GWrT$ $rTGll GUrT(i9L$.IT $.mGiL5ilq-';'$ULlLL @L1liJffi~tD ~~
~..,LDP;~.IT6rr LDrT)ElGllffiJ$~tD IfrTrTP;I"""6lJ,@~W"'~ I"6lJDJrT.-.r@",,6lfOT?

(a) GllffiJ.;,.-.rrT/E @)1B(frT~

(b) ~l"tDffirT LD~~tLJ L5i(fGl"lftD

(c) LD$rTl"$rT "-~~(fU L5i(fGl"lftD

(d) If(frTtU)li$rT (frTtU'(frT1BffiJl"rTG>T

(A) (a) (B)

(C) (c) (D)
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- 59. During whose reign Vijayanagar was visited by two foreigners, Nicolo, Conti and Abdur
Razzaq?

(A)

, (C)

Virupaksha II

Harihara II •
(B) Bukka I

.;pi1f Devaraya II

'")i;i!i LD~6mITl~ ~L618; a;rrQ)~~Q) ~<.'9 Q6Uotflp;rrLLGuira;mrr6m ,iblC;a;~Q)rr a;rr6lior~lLItb, <!9Iui9iir IJlfrr8;@;tb

66l8lUJ~a;IJ~~OJ@) 6UQ,Q)a; i!i)i;i!i6mir'(

(A) ,~ 1j'6liorLrrtb661<.'9u rr8;Gl!j>rr

(C) ~ IJ6liorLrrtb j!l!DITlj!l!DlJir

, (B) , C'Pi!iQ)rrtbLj8;a;ir

(D) ~1J6liorLrrtb C;i!i6UlJrrUJir

60. The most favourite God of the Tamils during the Sangam age was

(A) Siva (B) , Thirumal

(C) Varuna ~ Murugan

Ifrfueia;rrQ)~~Q) i!iL61wira;~ 6U_ffiJIlilUJ C'P8;IlilUJa;L6l.l'"'

(A) 6l6U~ (B) ~<.'9LDrrQ)

(C) 6U<!9-~ ,(D) C'P<.'9a;~

61. who gave a new slogan "One religion, One' caste and One God for mankind"?
•(A) Mahatma Gandhi • (B) n.R. Ambedkar

,pf Narayana Guru (D) E.V.R. Periyar . '

"LD6lIT1i!i1fC'Pi!irrUJ~~OJ@)fil<.'9IfLDUJtb,fil<.'9Ifrr~ LDOJ11JItbfil@ ,a;L6l.loir" '"~!D Lj~UJ C'PW8;a;~Q)i!i <!9Iotfl~i!i6Uir

'fJrrir?

(A) LDa;rr~LDrra;rr)i;~'

(C) p;rrlJrrUJ_ @)<.'9

- . (B) B.R. <!9ItbGu~a;rrir

(D) E.V.R. QuITlUJrrir

62. Which commission was appointed before the appointment of MandaI Commission to look~ . '.'

into the grievances of the Backward classes?

(A) Radhak~ishna Commission '~ Kalelkar Commission

(C) Sadler Commission (D) Kothari Commission

o

(A)

(C)
IJrri!iirllil<.'9~_rr @J@

GIfLQ)ir @)@

23

(B) a;GQ)Q)a;ir @)@

(D) Ga;rr~i!irrIT1@)@
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63. Which of the following is not a method of estimating National Income?

(A) Expenditure method

VJif Matrix method

(B) Output Method

(D) Income method

. (A) QIf611Glj (Yl6OlDJ

(C) <&I LLGlJ6Ol_ (Yl6OlDJ

64. NITI AAYOGwas established in the year

(A) January 1, 2014

,JIlt January 1,2015

(B) Q GlJ cITIuS Q;1 (tp 601DJ

(D) GlJ@LDIT6Ol (Yl6OlDJ

(Bt December 25, 2014

(D) . May 30, 2014

(A) 1i,l6OlGlJn1 1; 2014

. (C) 1i,l6OlGlJn1 1, 2015

(B) Lq-IfLDU';- 25, 2014

(D) GLD 30, 2014

65. '. Which Article of Indian Constitution empowers the Parliament to form new states?

(A) Article 2

(C) Article 149

,pIr Article 3

(D) Article152

(A) 6lSl~2

(C) 6lSl~149

(B) 6lSl~3

(D) 6lSl~ 152

66. Seasonal unemployment is a characteristic of

(A) Industry .tPJIf' Agriculture

(C) SerVice (D) Transport

(A) QiEITu5l6\l

(C) U6Oln1",OIT

AECGS/15 24.
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.•
67. Who made the famous declaration known as the "Deepavali. Declaration" on

'October 31, 1929?
..

(A) Rams'ay Mac Donald (B) Atlee

(C) Mr. Baldwin. ,pf Lord Irwin
•

(A) ~rrtilG6 QLD8;QLrrrorr6iJ~

(C) Mr. urr6iJ~6lS16ID

(B) ~L6lSl

(D) @iT6lS1"" t5l~Lj

68. Who said this? " I am Indian toni toms waking up all the sleepers so that they may wake
and work for their motherland"

(A) Mahatma Gandhi

..JJ1f' Mrs. Annie Besant.

(B) Aurbindo Ghosh

(D) Lord Wavell
I

riiJroif>iF .Q 6rr6IDroGlJ iT IUrriT?' " i9fIIi"8il8; Q e;rr6lI'oT"l-(!!)8;@)til ~ OIDroGlJQ) ~lLjtil 6T(!9U t5l

if>rrwp;rrL"l-we;rre; "-OIDwuu,lOwe;rre; 6T(!9uytil ~.(!!) riiJ)i;i)UJ iOtiluLLtil p;rr6ID".

(A) LDe;rr~LDrre;rr)i;if;1 (B) ~~t5l)i;~ G8;rr~

(C) Mrs. ~",,6llIl Qu66i>rc:... (D) GGlJGlJ6iJ~~Lj

.'

. (B) 1880

(D) 1893

the Headquarter of the Theosophical S.ociety was established at Adyar.

1879

1889.(C)

In which year
(Madras)?

~

'.69.

. (A) 1879
(C) 1889

(B) 1880
(D) 1893

70. In which place Swadeshi Steam Navigation Company was started' by V.O. Chidambaram?

(A) Madurai .

~ Tuticorin

• (B) Vedaranyam.

(D) Tirunelveli

GlJ.'L $lif>tilu~til. 8iGif>$l.£~rr6lS1Biuu6iJ BitilQU6llIlQlUJ 6T)i;iOriiJL~i)6iJ <~INtilt5l~if>rriT?

(A) LD~Ql~ (B) . GGlJif>rr~6lI'oTUJtil

(C) . i9f1~~8;@)"l- (D) i)(!!)Qp;6iJGGlJ6lSl

I) 25 AECGSI15
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,71. Find the missing term 'marked by question mark in

M3V, 05U, R7T, T9S, WllR ?

~
Y13Q (B) Z13Q

(C) Y13P (D) Y15Q'

G:B;m6l5l8i@)!DI @)!DI8i@)Lb 6l5IG'U LL "-lJ:)I U Lj Gr6irr6lIT?

M3V, 05U, R7T, T9S, WllR ?

(A) Y13Q (B) .Z13Q

(C) Y13P (D) Y15Q •

(A) 27:64

~ 4:3

(B) 108:144

(D) 3:4

(A)

(C)

27:64

4:3

(B) 108:144

(D) 3:4

73. The perimeter of one faee of a eub~ is 20 em. Find its volume,

.~ 125em3

(C) 1000 em3

(B) 400 em3

(D) 8000 em3

(A) 125 QIf.Jl.'

(C) 1000 QIf.Jl.'

AECGS/15 26

(B) 400 QIf.Jl.'
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3.J2 4.J3 .674. The value of .J6 .J3 .J6-.J2 IS. .'. ~- 3 -J8 -../Ii

(A) .J3+.J2

(BL J3-.J2

(C) .J5+.J2

.~
5.J3

3.J2 4.J3
-J8 6../Ii--4r LO~Uy.J6-.J3 .J6-.J2 8- 12

(A) .J3+.J2

(B) .J3-.J2

(C) .J5+.J2
(D) 5.J3

,
. 75. A and B wgether can do a piece of work in .12 days, whichB and C together can' do in

16 days ..Mter A 'has been working at it for 5 days and B for 7 days, C finishes it in 13 days.

In how many days C alone will do the work?

(A) 16 days

~ 24 days

(C) 36 days'

(D) 4.8days

Vl<!9 a6U<i>lOO<i>llUA °LOlDl])IU:>B ~<i>l_~~ 12 iDrrI':"/Effil6i>QlfuJ~(Yl1q.UUir. ~aiO a6U<i>lOO<i>llUB LOlDl])IU:>C

.~"'_p;~16 iDITL./EG1T\6i>'(Yl1q.uuir. a6UQ)OO<i>llU 5 iDrrL./E.rr QlfuJilitSl6N A-ILjU:>, 7 iDrr":"/E.rr QlfuJiOt9GOr

B-1LjU:> 6lS)OO/Etli~ a6U<i>lOOQ)lU C, 13 j!;rrL./Effil6i> (Yl1q.uuir <ir6llll6i>~6iJa6UQ)OOQ)lU C LOL.~aLO glfuJlU

o

,
6Tliiili<i>l~ iDrrL./E6i:'~@)U:> 6T~1i; /Err..r.r/E.

°{A) 16iDrrL./E.rr

(B) ° 24 iDrrL./E.rr

(C) 36 iDrrL./E.rr
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76. A lawn is in the form of a rectangle having its sides in the ratio 1:3. The area of the lawn is

~ hectares. The length of the lawn is
12 " ,

(A) 25m

50m

(B) 50 m
. 3

(D) 150m

(B)(A)

(0)

25 ill

50 ill

50 ill
3'

(D) 150 ill

,

77. In ------learning, school systems around the world are developing the ability to

provide learning opportunities to students "anytime, anywhere".

(A)Oloud computing ~ Ubiquitous learning

(0) Inter learning (D) Both (B)and (0)

78. Which of the followingis used by Hackers?

(A) SocialStudies

,~ SocialEngineering'

(D) (B)lilJD!!JILb (0)

(B) SocialVisits

(D) SocialHacking

(A)

(0)
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79. Which State received the status of an Associate State'of Indian Union?

(A) Assam

(C). Nagaland

(B) Meghalaya

~ Sikkim

@)i;l51w c'9I if 81GN ~ r'r@""6O"OTLDrr,llilQ) c'9I)i;~oiu it"" ~ u QU 0JDLDrr,llilQ)til GTi!jJ? .'
(A) c'9Ioiu 6!Urrtil

(C) IDrr"rrQ)rr)i;i!jJ

(B) GLDffifTQ)wrr

(D) 81,;,$)til

, '

80. Disqualification of the member of State Legislative Assembly is decided by

(A) Governor

vI!!t Speaker

(C) ChiefMinister

(D) ,Prime Minister

(A) ~~IDr'r "
(B) IfurrIDrrw"r'r

(C) 'QP~Q)""LD",lfr'r

-(D) L51~~LDr'r

'81. The power to create a new state from the territory of the existing state in India is vested
r

with

(A) Cabinet

(B) State Legislature

(C) President

...;It' Parliament

@)i;l51wrr6!Sl61Sl@,;,@)til 9@ LDrr,llilQ)itl51GN ,lliIQ)Uu@)I51Wl61Sl@)i;i!jJ 9@ l.i 151w LDrr,llilQ)it""~ "-@@.1fT8;@)til

c'9I151"rr ~it""~ u Q u 0p51@8ui!jJ

(A) c'9I""LD",lfr'r @)@

(B) LDrr,llilQ)IfL.LLDGN!Dtil

(C) @),,!-WIJ"it ~""Q)6lJr'r

(D) urr~n'~LDGN!Dtil
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82. PL 480 schemes refers to

,

•
(A)

(B) .

(C)

"
Rocket Launching Mission'

Palar River Basin Project

Public Interest Litigation Scheme .

A scheme under which India imported wheat from USA in 1960-70

..

L51.GT6il480 GT6NlD:'5JLLlD @:irDIuui91

(A) GJ6>j,g;""601ITGlfW~i91LD :'5JLLLD

(B) urr6llrriJ)l u(b)6>l,g;~ :'5JLLLD

(C) G u rri9I P;6ll <OlJ!Jlffi@:i~ :'5JLL'LD

(D) 1960-70ffiffil6il c?>IGLDITiffi,g;rr661LuS1(1lj)i>i91,@)i>:'5JlUrr G,g;rri916OlLD6>llU,@lDffi@:iLD~ GlfUJ!!, :'5JLLLD

83. How many recommendations were contributed by the Sarkaria Commission?
,

(A) 227

~ 247

(B) 237

(D) _257

(A)

(C)
:Z27
247

(B) 237

(D) 257

. 84. Which Amendment Act added Dadra and Nagar Haveli in the list of Union Territories?.. . '.

(A) 8th Amendment Act ..

~ 10thAmendment Act

(C) 12thAmendment Act

(D). 15thAmendment Act

!!J,.-o\IlU6N L51~G!!,lfffiJ,g;ffil6N <OlJITi6Ollfu5i6il:i;rr~lJrr LDJDiJ)ILDp;rr,g;,;- ~rrG<OlJ615l6>llU ,@6>l""'-~!!, :'5J(Ilj~!!,", IfLLLD GTi9I?

(A) 8-<OlJi9I :'5J(Ilj~!!,", IfL,LLD

(B) lO-<OlJi9I :'5J(Ilj~!!,", IfLLLD

(C) 12-<OlJi9I :'5J(Ilj~!!,", IfLLLD

(D) 15-<OlJi9I :'5J(Ilj~!!,", IfLLLD
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85. In India National Development Council includes

(A) All Union Cabinet Ministers

(B) ChiefMinisters of all states

~ .All Union Cabinet Ministers and all the ChiefMinisters

. (D) All the ministers of the states

G:iD81UJ QJ GlTr'r8081 ffi6lj ~ 81Q\l ~ 2...IDJU L51..-rr'rfficiT UJ rrQJ r'r?

(A) 6T6U6IJrr iD~::5lUJ ~6J5)LD80"r'rfficiT

(B) LDrr~6IJn'Jffiffil~ C'PiD6IJ6J5)LD80"r'rfficiT

(C) . ~6J5)..-r~i9ILD~::5l UJ ~6J5)LD80"r'rffi@iLb 6T6U6IJrr LDrT~6IJ C'PiD6IJ6J5)LD80"r'rffi@iLb

(D) LDrr~6IJn'Jffiffil~ ~6J5)..-r~i9ILD)i;::5lrTlfficiT

86. The number of values less than the median of 97 values is

.~ 48

(B) 0.50

(C) 48.5

(D) 47

(A) 48

(B) 0.50

(C) 48.5 .

(D) 47

87. If the mean of x,x + 2,x + 4,x+ 6,x + 8 is 20, then x is

(A) 18

(B) 76
j,

(C) 24

.pt 16

(A) 18

(B) 76

(C) 24

(D) 16
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. 88." Three important names of the Indian sub continent have their sources near the Mansarover

Lake in the Great Himalayas: These rivers.are

(A) Indus, Jhelum and Sutlej

•
(B) Brahmaputra, Sutlej and Y~muna

•

~ Brahmaputra, Indus and Sutlej

(D) Jhelum, Sutlej and Yamuna

IY'6irrWCY'ffiffiitu Q U llJ IT8;~6fT Q "'ITOOL £i)i1i£i llJ ~~_ ffi ",ooLi5i£iru £i) LDllJ LD~6\Ju5I ru LDIT~GiuG~fl6U IT

@)6fTi5i£i6irr ~ (fljG", Gi5 IT6irrWLb JD i£i",ciT

(B)

89. The distance between the sun and the earth at perihelion is

(A) 190 Million kms

.~ 147 Million kms

(C) i78 Million kms

(D) 100 Million kms
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90. . During Earthquake the place which experience seismic event first is called as

(A) Focus

(B) Place ofAttraction

$ Epicenter
r

(D) Epifocus

(A) oOo~urr8.iGiu

(B) rcITU L.j .@LtD

(C) .-oJ ill tlJU L.j6iTffiI .

(D) .•n51 c:u rr,,00

•
91. Which is the Headquarters of the Asian Development Bank?

I. Manila

II. Kaulalampur

III. Jakarta:

IV. Bangkok

(A) I (B) II
(C) III (D) IV

•

I. ill~6\lrr
•

II. C:"rr6\l rr6\lUl!d>IT.

III. 1J:l" rrITIVrr

IV. u rr,ffiJ8) IT8;

vA I (B) "II
(C) III (D) IV

0 33 AECGS/15
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92. The Scientific name for the smell of the earth after a rain shower is

LD6OliJ)QUIT~6lSlrD@iU L51!D@i,"rDuG\Lb kJ,u5Iu5I~ LD6lf<f~iblrDffiIT6OT~!!5l6lSllLJ6iJ QUlLJIT ,"~7
(A) G:LITG:U ITG:ffiITrT

(B) QLD"I-G:ffiITrT

(C) QULrTlG:ffiITrT

93. Who is the recipient ofPadmavibhusanawards 2015?

~ Satpal

(C) Sardarasingh '

(B) Saba Anjum

(D) P.V. Sindhu

(A)

(G)
IF~UIT6iJ

IFrTIVITO-IT81nil

(B)IFUIT ~I~y,,,b

(D) L516lSl. 81}t~

94. ICBM in space science stands for

(A) International Canister Ballistic Missile

~ Inter Coriti,nentalBallistic Missile

(C) Inter Continental BioMissile

, (D) International Carrier BioMissile

(A) International canister Ballistic Missile

(B) Inter Continental Ballistic Missile

(C) Inter Continental BioMissile

(D) International Carrier BioMissile
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95. 'Iphone' software is made in

..(A) Japan

. (C) Mongolia

-(A) 1J6uurr6irr

(C) lDffiJG:a;rr6151UJrr

(B) Korea

~U.S.A

(B) Qa;rrrtl UJrr

(D) "-I ..-rGiu.GJ.

96. Match the following

Authors Books

(a) .Mulkraj Anand l. Blind Ambitions

(b) Vikram Seth 2. Family Matters

(c) Rohinton Mistry . 3. Coolie

(d) John Dean 4. Golden Gate

(a) (b) (c) (d)

(A) 2 4 3 1

(B) 3 1 2 4

(C) 3 4 2 1

(D) 2 1 3 4

a;wa;";""Lru!D6"6lJ]) Q.urrC'9~i91a; :

~81 rtIUJITa;GiT Lj~~a;ffiJa;GiT

(a) ey>ro';;l)"rrm ~6m)i>~ l. LSl6"6lm";""L' ~tDLSl,,6irrGiu

(b) 6lSl';;l)"tDc:,,~ 2. C:u uSlrol C:LDLLCrGiu

. ec) C:l)"rrffil";""L~ uSlGiuLrtI 3. &6151

(d) 1J6rr6irr",-6irr 4. C:a;rrro L6irr C:a; L

,
(a) (b) (c) (d)

(A) 2 4 3 1

(B) 3 1 2. 4
c

0ffJ 3 4 2 1

(D) 2 1 3 4

35 .' AECGSI15
[Turn over



97. The place 'Madison square garden' which the pnme minister of India visited m

September 2014 is located at

~
N!;'wYork

(B) Washington DC

(C) New Jersey

(D) California

UfTlfi" L5llf:'!iillrT .QIfULlDUrT 2014 Gil IJirDiPJQ)fT QIf6irr!J) 'LDfTLq-ffil6irr Qu8;6lJrT 8ifTrTL6irr' (Madison square

garden) ~6'llD)i>i9JGimT @LlO

(A) ~lJd, LLJfTrT8;

(D). ",6151CufTrT6OflLLJfT

98. Which district in India is first to h;"vehigh speed rural broad bank network through optical

fibers?

(A) ErnaKulam District, Kerala , .

.~ Idukki District, Kerala

(C) Palakad District, Kerala

(D) Shimoga District; Karnataka

@)i>~LLJfTGlSlGil, ~ffi1 @6'l!J)IJiGir (YlQ)Lb .$llffTLDUL.j!J) ~~C6lJ8i GlSlrT1UL6'lL 6lJ@Q):'!im ~@illUL5l6'l6lIT

CY':'!i6irrCY':'!i6151GilQ U )liGlSl(flj8;@;Lb ill fT6lJ LLLb 6Ti9J?
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99. Pick out the wrong statement:

(A) World future energy summit will be held in Abudhabi, 2015

(B) '2014' records as the hottest year'

-.JP'1 Subramanian committee is to review sanitation

(D) IRENA is to promote adoption and sustainable use of renewable energy

"

(D) . IRENA- l1lrrW!D~il'(5)i>il'1J8i~ uUJ~urr@8i@5Li:> Gl1lLi:>u@~i9Iil'W8i@5tb QBirr";",@w6TTi9I

100. In which district of Tamil Nadu, the 10th Century Buddha Sculpture was discovered
recently?

(A) Mahabalipuram

,,;if' Thanjavur

(C) Kanchipuram

(D) Tiruvallur.

1Q-Li:> !9JTWrDrr";"''''L80 IJrrr'r)i>iOY~iOr'r <flwuLi:> ~";"''''11lu516U. iOu5l~ p;rrL...Lq.~ GT)i>iO l1lrr6lJL...L~~Ql.

Bi"",QL@8iBiUUL...Li9I?

(A) l1lBirruQ\lYIJLi:>
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